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REYUIER | RIEEED BAKER  |AN\—NER| AEEE | BRES

(m) (n) (m) () (m) (m)
MH101-1 - 1.41 3.02 0.64 507 0.03
MH102-2 - 1.06 178 0.64 3.48 0.03
MH102-4 - 1.41 2.63 0.64 4.68 0.03
MH103-1 - 1.41 432 0.64 6.37 0.03
MH103-2 - 1.41 3.48 0.64 5.53 0.03
MH103-4 - 1.06 2.63 0.64 4.33 0.03
MH103-6 - 1.06 2.63 0.64 4.33 0.03
MH103-8 - 1.06 2.63 0.64 4.33 0.03
MH103-10 - 1.06 2.63 0.64 4.33 0.03

ait - 10.94 25.75 5.76 42.45 —
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AEE (M) A =0.38
rFEE (m) r=03

h =& (m) h=02

FAIETE (m) F=0.38
AmEFE (m) A=141
r:EEEE (m) r1 = 0.45
r2: FEFEE (m) r2=0.3

h =& (m) h=06

FAlEmfE (m) F=1.41
AEE (M) A= 3.02
rFEE (m) r=0.45
hEE (m) h=1.07
FAIEFE (m) F =3.02
AEE (M) A = 0.64
rEE (m) r =045




A= ZBHEBEHESE

A : MH102-2

MImiE= 348 m

Wi W2 H1

H2

H3

H

0.6 0.9 0.128

0.45

0.63

1.208

W2

7,

—|\_ _’/,—

| e

H3

BT BEAEE

=

an

AEE (M) A = 0.24
rFEE (m) r=03
h&Eas (m) h=0.128
FAIETE (m) F=024
AmEFE (m) A=1.06
r:EEEE (m) r1 = 0.45
r2: FEFEE (m) r2=0.3
h =& (m) h =045
FAlEmfE (m) F=1.06
AEE (M) A=178
rFEE (m) r=0.45
h =& (m) h = 0.63
FAlEmf (m) F=1.78
AEE (M) A = 0.64
rEE (m) r =045
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rFEE (m) r=03

hEE (m) h=0.11
FAIETE (m) F = 0.21
AmEFE (m) A=141
r:EEEE (m) r1 = 0.45
r2: FEFEE (m) r2=0.3

h =& (m) h=06

FAlEmfE (m) F=1.41
AEE (M) A =263
rFEE (m) r=0.45
h =& (m) h = 0.93
FAIEFE (m) F=263
AEE (M) A = 0.64
rEE (m) r =045
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AEE (M) A=0.25
rFEE (m) r=03
h&Eas (m) h=0.135
FAIETE (m) F=0.25
AmEFE (m) A=141
r:EEEE (m) r1 = 0.45
r2: FEFEE (m) r2=0.3
h =& (m) h=06
FAlEmfE (m) F=1.41
AEE (M) A =432
rFEE (m) r=0.45
hEE (m) h=153
FAIEFE (m) F=432
AEE (M) A = 0.64
rEE (m) r =045
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AEE (M) A=0.23
rFEE (m) r=03
h&Eas (m) h=0.122
FAIETE (m) F=0.23
AmEFE (m) A=141
r:EEEE (m) r1 = 0.45
r2: FEFEE (m) r2=0.3
h =& (m) h=06
FAlEmfE (m) F=1.41
AEE (M) A= 348
rFEE (m) r=0.45
hEE (m) h=1.23
FAIEFE (m) F =348
AEE (M) A = 0.64
rEE (m) r =045




A= ZBHEBEHESE

A : MH103-4

MImiE= 433 m

Wi W2 H1

H2

H3

H

0.6 0.9 0.227

0.45

0.93

1.607

W2

7,

—|\_ _’/,—

| e

H3

BT BEAEE

=

an

AEE (M) A =043
rFEE (m) r=03
h&Eas (m) h = 0227
FAIETE (m) F=043
AmEFE (m) A=1.06
r:EEEE (m) r1 = 0.45
r2: FEFEE (m) r2=0.3
h =& (m) h =045
FAlEmfE (m) F=1.06
AEE (M) A =263
rFEE (m) r=0.45
h =& (m) h = 0.93
FAlEmf (m) F=263
AEE (M) A = 0.64
rEE (m) r =045
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AEE (M) A = 0.40
rFEE (m) r=03
h&Eas (m) h=0.212
FAIETE (m) F = 0.40
AmEFE (m) A=1.06
r:EEEE (m) r1 = 0.45
r2: FEFEE (m) r2=0.3
h =& (m) h =045
FAlEmfE (m) F=1.06
AEE (M) A =263
rFEE (m) r=0.45
h =& (m) h = 0.93
FAlEmf (m) F=263
AEE (M) A = 0.64
rEE (m) r =045
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AEE (M) A =0.38
rFEE (m) r=03

h =& (m) h=02

FAIETE (m) F=0.38
AmEFE (m) A=1.06
r:EEEE (m) r1 = 0.45
r2: FEFEE (m) r2=0.3

h&Eas (m) h = 0.45
FAIEFE (m) F=1.06
AEE (M) A =263
rFEE (m) r=0.45
h&Eas (m) h =093
FAIEFE (m) F=263
AEE (M) A = 0.64
rEE (m) r =045
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AEE (M) A = 0.39
rFEE (m) r=03
h&Eas (m) h = 0.209
FAIETE (m) F=0.39
AmEFE (m) A=1.06
r:EEEE (m) r1 = 0.45
r2: FEFEE (m) r2=0.3
h =& (m) h =045
FAlEmfE (m) F=1.06
AEE (M) A =263
rFEE (m) r=0.45
h =& (m) h = 0.93
FAlEmf (m) F=263
AEE (M) A = 0.64
rEE (m) r =045
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No. SEEHE B TEHIE SEEE BIRME AsUIET AsEER | Al | Asfsy | ERUIRL | #EfiCo | #EMiCo | n'viky | EBRL REI
(m) @M Em) (m) COICY ®) (Mm% | EHm® | 50 | EEImY | mY) (m)

MH101-1| % 50+ #%150 0.15 3.6 0.05 8.0 3.6 0.2 0.4 0.05 0.05 0.12 016 | 0.16 3.6
MH102-2| % [E50+% %150 0.15 35 0.05 4.8 35 0.2 0.4 0.03 0.03 0.07 016 | 0.16 35
MH102-4| % [E50+#% #% 150 0.15 3.6 0.05 5.2 3.6 0.2 0.4 0.03 0.03 0.07 016 | 0.16 3.6
MH103-1| & 50+ %150 0.15 3.7 0.05 5.4 3.7 0.2 0.4 0.03 0.03 0.07 016 | 0.16 3.7
MH103-2| & [E50+% %150 0.15 38 0.05 5.6 3.8 0.2 0.4 0.03 0.03 0.07 016 | 0.16 38
MH103-4| & [E50+#% %150 0.15 4.3 0.05 6.2 4.3 0.2 0.5 0.06 0.06 0.14 016 | 0.16 4.3
MH103-6| & [E50+% #% 150 0.15 1.9 0.05 6.0 1.9 0.1 0.2 0.05 0.05 0.12 016 | 0.16 1.9
MH103-8| % [E50+% %150 0.15 5.0 0.05 7.2 5.0 0.3 0.6 0.05 0.05 0.12 016 | 0.16 5.0
MH103-10[ 3R [E50+E% % 150 0.15 1.9 0.05 6.0 1.9 0.1 0.2 0.05 0.05 0.12 016 0.16 1.9
=Xl 31.3 544 | 313 1.7 35 0.4 0.4 0.9 1.4 14 313
REtHE 31 54 31 2 4 0.4 0.4 1 1 1 31
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